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Term to use when the Annual Emission Limit Equals the Short Term Limitation at 8760 hours per year, where no additional testing is required.


Emissions Limitation:
[bookmark: _GoBack]XXX1
Applicable Compliance Method:
The ton per year emission limitation was developed by multiplying the short-term allowable XXX2 emission limitation (XXX3 lb/hr) by the maximum annual hours of operation (8,760 hours), and then dividing by 2,000 pounds per ton.  Therefore, if compliance is shown with the short-term allowable emission limitation, compliance shall also be shown with the annual emission limitation.


XXX1 = Insert the TPY emission limitation established in the Applicable Requirements.  Be sure to use a sentence format (e.g., The particulate emissions shall not exceed XX tons per year from the stack egress.)
XXX2 = insert the pollutant (i.e., particulate, sulfur dioxide, nitrogen oxides, volatile organic compound, etc.)
XXX3 = insert the actual short term emission limit
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